Division Word Problems Worksheet

. A car company manufactured 1098 cars in 30 days of June. If the company
manufactured an equal number of cars each day, then how many cars were
made each day?

. Divide the sum of 7,009 and 2098 by 27.

. 108 trees are planted equally in 3 rows. How many trees are there in each row?
How many are left to be planted?

. The price of 25 sets of television is Rs 95,865. How much does each T.V. set
cost?

. The price of 50 bags of wheat is Rs 45,500. Find the price of each bag of wheat.

. Sara bought 42 tickets for a movie for Rs. 17,200. What is the cost of each
ticket?

. Noah cut 3825 meters of cloth into 25 equal pieces. What is the length of each
piece?

. On one shelf of the library, 32 books can be kept, how many shelves are needed
to put 3072 books?

. The annual income of Sam is Rs 98,364. What is his monthly income if he earns
an equal amount every month?

10.Tina has a collection of 980 marbles. She wants to put them in Jars. She can put

14 marbles in one jar. How many jars does she need to put all the marbles in?



